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" Math 111 Functions and Graphs: 3 Dusty Wilson
Instructions: Answer each question using a complete sentence.

1.} What is the relationship between profit, cost, and revenue?

2.) Using this formula and the graphs previously given to describe profit and costs, complete the
following table.

Revenue

3.) Carefully, plot points and sketch a smooth curve to generate a graph of GEL Boomerangs’
Revenue from 1996 - 2004. '

GEL Boomerangs
Revenue 1996 - 2004
A 14
8 12 -
(an]
£ g
@
2 6
@
g ¢
B 2 -
™ g4 ‘ ‘ _ ‘
0 2 4 6 8 10
t = time in years since 1895

4.) Find and interpret 7(7)

5.) Solve and interpret r(t)=77

6.) Find and interpretr(5)—r(2)?

(6)-r(2),

7.) Fmd and interpretr =




Math 111 Functions and Graphs: 4 Dusty Wilson

Consider the heating schedule of a certain office building where the temperature is a function of
time.

Graph this function if:
e At midnight (time ¢ = 0}, the building temperature is 50°F.
s This temperature is maintained until 4am.
¢ The temperatare then warms up steadily so that by 8am the temperature is 70°F.
e The 70°F temperature is maintained until 4pm.,
e The building then gradually cools to 50°F by 8pm.
e Thig temperature is maintained throughout the night.

Heating Schedule

80 -
70 -
50 4
40 -
30 -
20

10 -

tempefure

h =

-10 8 5 10 15 20 25 30

t = hours since midnight

a.) Suppose the building manager decides to change the heating schedule by starting it two hours
earlier. How will the gragh change?

- b.) Suppose the building manager decided the temperature should be kept 2°F warmer. How
will the gragh change?

¢.} If we consider A(f) the temperature as a function of time, interpret h(2) and h(4).
d.) What happéned in A(++2)? Interpret in the context of the question.
e.) What happened in A(£)+2? Interpret in the context of the question.

) Interpret A(2)=60 and h{#)=72 in the context of the problem.



